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PART A: Grammar
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

T 31- Over the history of the galaxy, hundreds of millions of solar-type stars have run out of hydrogen fuel

......... red giants and white dwarfs.
1) their days ended in 2) by ending their days of
3) and ended their days as 4) thereby their days ending as
W& 32- ... , huge artillery pieces were demolishing castle walls with projectiles the weight of an upright

piano.
1) Centuries before the development of effective cannons
2) As of centuries ago when developed effective cannons
3) Having developed effective cannons centuries ago
4) Effective cannons developed centuries ago

2 33-In this era of biotechnology, especially, novel organisms can be engineered ......... .

1) with vaccines and antibiotics against which are useless
2) for vaccines and antibiotics be useless against them

3) useless against which are vaccines and antibiotics

4) against which vaccines or antibiotics are useless

R\ 34- The word fephra, from the Greek word meaning ash, has come into use among geologists to describe

the assortment of fragments, ranging from blocks of material to dust, ......... ejected into the air during a
volcanic eruption.

1) are 2) that is 3) being 4) which are
™ 35 . the advance guard, the trailblazers — explorers, trappers, and mountain men, hide and

tallow traders, freelance adventurers, the military.
1) First to arrive was 2) Those first arrived there were
3) Arriving first were 4) There were those first arrived

TR\ 36- The strike by the factory workers in Mexico poses a dilemma for the ruling party, which must choose

between ......... its union ally or undermining its fight against inflation.

1) them alienating 2) whether alienating 3) alienating 4) the alienating of
W 37- It's only after you and your friends go through a lot together, good or bad, ......... become close
friends.

1) then can you 2) can you 3) that you can 4) such that you can
R\ 38- The difficulty in designing nanoscale circuit boards lies in keeping electrons from leaving .........
they flow.

1) the material through which it conducted and 2) conducting the material which through that

3) the material conducting through which 4) the conducting material through which
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PART B: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

X 39- You'd better ......... all your facts and figures so that you have a convincing case when you meet
with the boss.
1) marshal 2) disabuse 3) condone 4) bowdlerize
2 40- Todd hated to drive with his Uncle Jasper, a notorious ......... , who complained non-stop about the
air-conditioning and Todd's driving.
1) naysayer 2) curmudgeon 3) pushover 4) soothsayer
TR 41- In order to turn around its ailing company and concentrate on imaging, Eastman Kodak .........
itself of peripheral businesses in the areas of household products, clinical diagnostics, and pharmaceuticals.
1) diversified 2) debunked 3) disavowed 4) divested
. 42- Lavinia felt sure that water in all foreign countries, including Canada, was not ......... , S0 only
bottled water touched her lips while she was on the road.
1) limpid 2) potable 3) stagnant 4) murky
T2 43- The executives at the computer software and technology convention found the keynote speaker's
remarks on the future of high tech startups to be so ......... that they booed him off the stage.
1) tremulous 2) ubiquitous 3) platitudinous 4) hell-bent
T 44- His seeming recovery of his better self was nothing but a ......... , his fawning courtesy a grimace, his
suave kindliness a mockery, his effusive benevolence a snare.
1) sham 2) odyssey 3) peregrination 4) recuperation
X 45- The ...... crowd attacked the platters of cheeses and hors d'oeuvres as if they hadn't eaten in weeks.
1) bovine 2) ursine 3) equine 4) lupine
R 46- In the 19th century, Thomas Carlyle called economics "the ......... science,”" in part because of
Malthus's theory that population growth would outpace our natural resources, causing widespread famine.
1) dismal 2) flashy 3) marginal 4) benign
TR 47- From the battle's opening volleys to its bloody conclusion, the forces of destruction razed a path
through the city, ultimately leaving behind an eerie ...... where there once had been streets and squares
teeming with life.
1) ecstasy 2) forte 3) stillness 4) aurora
T2\ 48- When the guilty verdict was announced, the guards promptly ......... the defendant by the shoulders
and took him away.
1) dallied 2) pinioned 3) requited 4) bedazzled
2 49- Procedural justice and fairness are crucial to democracy—they ......... healthy party competition

and help ensure citizens' faith in a democratic system.
1) extrapolate 2) undergird 3) skirt 4) enfranchise

A 50- The queen's attendants insisted that she'd never made a bad decision during her entire reign, but

the queen ignored this puffery, recognizing it as the ......... chatter of toadies.
1) fickle 2) derisive 3) analgesic 4) unctuous
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We use as to tell what someone or something is. In this item the author uses as to indicate that solar-type stars are
red giants and white dwarfs. This eliminates options 1 and 2. Also, option 1 is wrong because it is not possible to
connect two independent clauses without the use of connectors or conjunctions. Option 4 is wrong because when
we use an ing-verb (ending in this case) with thereby, it is necessary that thereby be preceded by comma. Last but
not least, option 3 is the only choice that uses proper parallel structures:

...solar-type stars have run out of hydrogen fuel and (have) ended their days as .....

«D ay )f =YY
In this item, the phrase centuries before the development of effective cannons is an adverbial phrase moved to an
initial position for greater emphasis.
Also compare: Huge artillery pieces were demolishing castle walls with projectiles the weight of an upright piano
centuries before the development of effective cannons.

i o A 35 51 plasomn Y'Y
This sentence is adapted from a book by Chuck Missler. The sentence, as used in the book, reads:
In this era of biotechnology, especially, novel organisms can be engineered against which vaccines and antibiotics
are useless.
Though structures like this are common, they are not, grammatically speaking, correct. As you know, an adjectival
clause must be as close as possible to its antecedent. As a result, the adjectival clause against which vaccines and
antibiotics are useless must be as close as possible to its antecedent novel organisms, but it is not. Actually, this
sentence is correct if it is worded:
In this era of biotechnology, especially, novel organisms, against which vaccines and antibiotics are useless, can
be engineered.

«Y» 4....; _Yf

Whenever a phrase or clause is inserted between commas, it can be deleted because it provides additional
information and as a result doesn’t affect the grammatical structure. Therefore, in this item, we are allowed to
delete the phrases from the Greek word meaning ash and ranging from blocks of material to dust which do not
affect the sentence structure:

The word tephra has come into use among geologists to describe the assortment of fragments .... ejected into the
air during a volcanic eruption.

Now it is easier to notice that the blank needs a relative pronoun (which or that) as well as a singular verb that
agrees in number with assortment (i.e. is). This eliminates options 1 and 4. Option 3 is wrong because that is
ejected is usually reduced into ejected not the unnecessarily long phrase being ejected.

«F g @y 5 ¥
Whenever a sentence begins with an adjective, subject and verb are inverted.
Gone are the days when she was beautiful.
First to inhabit the barren land are moss and lichen.
Therefore, the first and third options can be both correct, also considering the fact that we can use infinitives after
ordinal numbers. Options 2 and 4, however, are clearly incorrect. The difference between the first and third options
is that the first one uses a singular verb (was) and the third one uses a plural verb (were). Therefore, what
determines the correct choice is the subject that follows the blank. Sazemane Sanjesh considers choice 1 correct.
This choice is only correct if we consider as appositive the phrase the trailblazers-explorers, trappers, and
mountain men, hide and tallow traders, freelance adventure, the military. Otherwise, option 3 can also be correct.
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We use either ...or to connect two choices, not whether ...or (so option 2 is wrong). Also, the coordinate
conjunction or requires that we take rules of parallelism into account. Thus, option 4 is wrong because the
alienating of its union ally and undermining its fight are not parallel, but alienating its union ally and undermining
its fight against inflation are. Finally, Option 1 is wrong because them is redundant.

«Y¥» 4....; YV

This sentence is an example of an It-cleft sentence. The information that comes after it is emphasized for the
reader. The clause which follows the it-clause is connected using that and it contains information that is already
understood.

It was to the dance that Sam wore his best suit.

A: Would you like to borrow this book?

B: No, it’s the other book that I want to read.

It is only after you and ..... that you can ....

«F» 4y 35 YA

The first option is incorrect for numerous reasons, the easiest one being tense inconsistency. In this option
conducted is in a past form while flow is in present form. Option 2 is incorrect because we do not use gerunds
(conducting) immediately after leave. Option 3 is wrong because it uses conducting, which is a transitive verb, as if
it is intransitive. We can ask: conducting what? Even if we consider conducting an adjective, it is wrong because it
uses conducting after material. Option 4 is the only acceptable choice. Here the conducting material means
0dS Caolaa oole.

b s loaS BB S o 0,5 & jlan] s, S8y U (S5 (Bdilolw) (S5 35 oo |y 65,1 5 el pled ol ge €I 4y 35 ¥4
Marshal: to organize all the people or things that you need in order to be ready for a battle, election etc
10855 35 rae ¢35 o egp0ls ol
Disabuse: to persuade someone that what they believe is not true {551 ;o oleil I}
Condone: to accept or forgive behavior that most people think is morally wrong{ s,5 cogeie (8,5 solel)

Bowdlerize: to remove all the parts of a book, play etc that you think might offend someone {55 jsuiles}

9 192 Aused i Ojs0 50 5y o A5 B FREW [l 98 S gl (57 T R oD agee b SIS Cangd (LS €0y« a5 Fe
Dise N Sl

Naysayer: someone who says something is not possible, is not good, or will fail{«a s o atues a5 S5}

Curmudgeon: an old person who is often in a bad mood { gies pol}

Pushover: who is easily persuaded or influenced or defeated { s po}

Soothsayer: someone who is believed to be able to say what will happen in the future {5c.c}

sloahs o) Gialaculed 00,5 €S10g5 Cpatunl 395 35 joio (58 gl 1 g QB 395 odsdaw] CS 1 4 lho 4Ll gl «F» 4y 3F F)
S5 By g)ls 5 s3lely (Sl LY gaxe
Diversify: to start to include more different types or things { x5l geief

Debunk: to show that something is less important, less good, or less true than it has been made to appear

10005 liSe0y (5955 5,
Disavow: to say that you are not responsible for something, that you do not know about it, or that you are not
involved with it { 5,5 Il ¢85 Lol
Divest yourself of something: to sell or give away something you own {:s,5 g, (3,5 s}
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Limpid: clear and transparent { J¥; .3lo}

Potable: clean and safe to drink {5 b« Socse)

Stagnant: (of water or air) not flowing or moving, and smelling unpleasant {.s1,}

MurKky: dark and dirty or difficult to see through {505}

S JuusS (5508 4y Sigla (slac ] bl oaisl 9550 50 1 0ty sS (LS (g igmalS glaadliyy 5 (5399555 0,58 LI jailiss P w35 P
Ly gy dimo g 3l 1) gl Slay g ol b 4 auzsl

Tremulous: shaking slightly, especially because you are nervous{ ; J}

Ubiquitous: present everywhere {l> aea ,5 s4>90f

Platitudinous: coming from platitude. boring and having no meaning because of being said so many times
before {oslsll i}

Be hell-bent on sth: to be extremely determined to do something, without considering the risks or possible
dangerous results { o}

9 955 el 3> huilsge Sg Joololl g SUSE (iiaelles Lol g SUS g 390 U 3> Sz (o alba S H g g €D 4y F FF

Sg b g Gide e Gl ales S
Sham: something that is not what it seems to be and is intended to deceive people, or someone who pretends to be
something they are not { sIss;q0}

Odyssey: a long, exciting journey {;l,s g ,98 ,au}
Peregrination: a long journey { sYsb ,auf
Recuperation: the process of becoming well again after an illness or of getting back your strength, health, etc
{ogste}
Dybse 3y Sy 4 (V) aniS 45y 0 S oo eolial @/ aN 51 A slr 4 JB glx 5l U8 b Sl b iy

ilod 950 138 ol dtan vz KN AS Wio )8 ales 138 iy 5 i oo 41 (5,5 A ) g 0550 Cumaz «FP 4y 35 FD
Bovine: slow and slightly stupid, like a cow {us (a3}
Ursine: related to bears, bear-like { _.,> 4 Lg o)
Equine: connected with horses, or appearing similar to a horse{ el 4 b o}

Lupine: ravenous, having characteristics of a wolf {ai. 5 wus,sf

el g 39d i (b mlie wd) Sl algior Sune 0B Sy &Sl (G ogille 5 bl BV (eleg pN R 8 0 € 4y 35 FF
el €SS Mo olen 1) olal wle o 5 Jlys  oxdad

Dismal: bad and unsuccessful {;.Sleé «S0,b o}

Flashy: big, bright, or expensive, and intended to be impressive {5, 5 §,), wauSo s}

A marginal change or difference is too small to be important { clasl> S}

Benign: kind and gentle {cab o> (b o)
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Ecstasy: a feeling of extreme happiness {u>s}

Be somebody’s forte: to be something that you do well or are skilled { 5 > .}

Stillness. Coming from still: total lack of movement or changing of position { s}

Aurora: a natural appearance of colored light in the sky, that is usually seen in the latitudes {pss sor}

532 Ay &5 15 e T8 (SUL) e pele s 3l o gSoma (s, (85 € 435 _FA
Dally: to take too long to do something, especially to make a decision{ s 5 u>}
Pinion: to hold or tie someone’s arms or legs very tightly, so that they cannot move freely { iw |, oS olws)
Requite: to give or do something in return for something done or given to you {:s,5 )| >}

Bedazzle: to impress someone very much, because of being very intelligent, beautiful, etc. { 5,5 o)

@y poye plarl 5 wds g0 JSB T, Wil (0> 2oldy S gaasly Ll aiies (ool S 900 5l page polis slang, (Brbe 5 Sl €T a5 F4
S (o0 el (gl Sg00 pllas

Extrapolate: to use facts about the present or about one thing or group to make a guess about the future or about

other things or groups { s, obatuslas)

Undergird: to support something by forming a strong base for it {5 cusis}

Skirt: to avoid talking about an important subject, especially because it is difficult or embarrassing — used to show

disapproval { 5,5 ;lz>I}

Enfranchise: to give a group of people the right to vote{ s i, &>}

ol 98,5 = Sl 5 @i cpl 4 aSle Lol a8 S5 caloil 5 0y peenad 095 cidal Jsb ;o 350 ol wisgr e aSle ylopdle «F» aiy 35 A

255 5 s il pallise cushle o5,
Someone who is fickle is always changing their mind about people or things that they like, so that you cannot
depend on them {Ls ; « codwes}

Derisive: showing derision { j.el seues}
Analgesic: used to stop people from feeling pain, or relating to the stopping of pain {_z5s,s ¢S}

Unctuous people or behavior expresses too much praise, interest, friendliness, etc., in a way that is false and
unpleasant {51, il allaef

«¥'» 4..;“)5 )

To determine the primary purpose of the passage, we must look at the passage as a whole. The first paragraph
explicates a phenomenon known as willingness to communicate (WTC). The second paragraph is concerned with
research into the variables bearing on WTC. Thus, the third option is the best choice.

«F» 4y 35 0Y

The phrase according to the passage suggests that the answer is explicitly given in the passage. The first paragraph
states that WTC is the immediate antecedent of actual communication behavior, which suggests that WTC
immediately precedes actual communication behavior.
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The second paragraph begins with: There have been three major studies investigating WTC in classroom contexts.
The second paragraph only discusses one of these studies: that by Dornyei and Kormos (2000). Therefore, we can
expect that the third paragraph of the passage will probably discuss another study that deals with WTC in
classroom context.

«¥» &y )f ) 4

The phrase according to the passage suggests that the answer is explicitly given in the passage. According to the
second paragraph the measure of WIC and the number of turns taken while performing the communicative tasks
were found to be positively related only in the case of learners who expressed positive attitudes to the task.

«¥'» M}f YA

The phrase the latter best refers to learners’ attitudes towards the specific tasks.

«\» M}f _0f

To determine the organization of the passage, we must consider the passage as a whole. The first paragraph
introduces a general concept (moral development). The second and third paragraphs are concerned with the nativist
theories of moral development and the fourth paragraph deals with the learning theories of moral development.
Therefore, it can be claimed that the passage as a whole is concerned with introducing a general concept and
presenting two conflicting theories that explain it.

«T» @y 35 OV

The author refers to watching violent videos to provide further support for the preceding statement that all theories
of moral development believe that no single cause can account for either moral or immoral behavior or, in other
words, the fact that morality is not unidimensional.

«F» asy )f _OA

It is easy to notice that there is no process time order in the passage. This is while the author’s reference to Jerome
S. Kagan and Mary D. Ainsworth indicates appeal to authority. The author’s reference to the nativist and learning
theories is indicative of comparison and contrast. The author’s reference to the fact that Some theories focus on
natural biological forces; others stress social influence and experience; still others, the judgment that results from
children's intellectual development also means that this passage is based on classification.

« &y 35 =04

The third paragraph is actually meant to further support the nativist theories which are discussed in the second
paragraph.

Note: In questions like this, there is often a distractor that contains the word “qualify”’. Mostly, that choice must be
eliminated, though it sounds deceptive.

There is no discussion of implications, nor any evaluation of findings in paragraph 3.

«f» 4.,.,)_5‘ 5

The phrase It could be predicted neither from their conduct in previous situations .... in this where-to-be-added
sentence is consistent with the main tenet of the learning theories of moral development: moral behavior is context-
bound, varying from situation to situation almost independently of stated beliefs. Also, the pronoun /¢ in this
sentence refers to children’s behavior (para. 4) and their refers to children (para. 4). This means that the sentence
must be added to the end of paragraph 4.
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X\ 1- Which of the following underlined segmentsis a constituent?

1) She seemed incredibly lucky to me. 2) She seemed incredibly lucky to me.

3) She seemed incredibly lucky to me. 4) She seemed incredibly lucky to me.
W 2-“ Constancy under negation” test isapplied for .............

1) presupposition 2) implicature

3) entailment 4) paraphrase

X 3- Thethematic role of the underlined words in the following sentence are:
We persuaded Mary to apply for the job asateacher.

1) Theme-agent-goal-role 2) Theme-agent-role-goal

3) Agent-theme-goal-role 4) Agent-theme-role-goal
X 4- Thefollowing can beread as: To be or not to be, which representsthe.............. writing
system.

2 <\ B 2 o

1) rebus 2) logogram 3) cuneiform 4) hieroglyph

T 5- Which of the following is a case of progressive assimilation?
1) olf [Ip 2) tem bagz 3) haef to gov 4) wotsza problom

T 6- Which of the following is a case of clefting?

1) Where Maya wants to go for her holidays is to Greece.

2) It's after class that Maya wants to look at your notes.

3) Maya said that she would leave early, and Emily said so too.

4) On your bag, that girl in the blue dress will put a picture of the King.

T 7- The sentence “ John would sang” isungrammatical because..............

1) tense shows up on the verb.

2) tense shows up on the auxiliary.

3) tense shows up on the leftmost auxiliary.

4) it contains more than one marking for tense.

W 8- Which of the following is NOT a case of clipping?

1) Laze from lazy 2) Van from caravan
3) Curio from curiosity 4) Psycho from psychology

T 9- Which of the following refersto anomia?
1) A type of aphasia characterized by labored telegraphic output.
2) A type of aphasia characterized by partial loss of the ability to produce language.
3) A type of aphasia characterized by inability to name objects and difficulty in accessing nouns.
4) A type of aphasia in which individuals have difficulty understanding written and spoken language.

X 10- Which of the following is NOT a case of embedding?
1) The girl the man the boy saw kissed left.
2) The old men are working and I am sleeping here.
3) The surgeon and the doctor whom the nurse aided cured the disease.
4) A farmer who was kicked by his donkey would nevertheless not take revenge.



3 o3y v 3907 aolisewly g Y13 s .
e 8550510 4 e s

T 11- Which tree diagram matches the following sentence?
The farmersbelievethe hungry beaversfrighten thefish.
S

P /S\

N PP \% NP Det/\ N V/\ S
/\ /\ PN
P NP N PP /{11) /\[{
De{\N P/\NP Aj N V N PP
& P N
(1) . (2)
S S
/\ NP/\VP
N NN\
/\ Det N V S

Det Aj N V NP

N PP
p/\ N Det/\N
3) “4)

W\ 12- Which of thefollowing isNOT a case of presupposition?

1) John was happy that it was Friday. It was Friday.

2) It showered every day of the week. It showered on Wednesday.

3) John finished mowing the grass before dark. John mowed the grass.

4) John managed to disconnect the burglar alarm. Disconnecting the burglar alarm was hard.

™ 13- Which of the following does NOT have structural ambiguity?

1) She gave her dog meat.

2) I found a bat in the attic.

3) There is a restaurant in the district which I like.
4) May I try on that dress in the room?

A 14- Felicity conditions validate an illocution. I n which of the following is the felicity condition

violated when A promises B to do X:

1) A is able to do X. 2) A is willing to do X.

3) X has already been done. 4) A believes B wants X done.
T 15- Which of the following has been wrongly classified?

1) Commissive: promise 2) Representative: claim

3) Declaration: praise 4) Directive: invitation

T 16- Which of the following is NOT right regarding derivational and inflectional mor phemes?
1) When both derivational and inflectional morphemes are present in a word, the derivational
morpheme(s) will generally be attached closer to the root than the inflectional morpheme (s).
2) Derivational morphemes are added to words to assign tense, number, possession, or comparison.
3) Derivational morphemes are not necessarily word class changing, they are more of meaning-

changing morphemes.
4) Inflectional morphemes are always added in the end of the affixation process. In other words, they are

the final step in affixation.
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W 17- Read the following data:
Fred should get a haircut, and so should John.

*Fred should get a haircut, and so John.

*Fred should get a haircut, and so should Ricky a hair cut.
The analysisthat best describesthese data is:

1) The word SO substitutes for the material dominated by NP.

2) The word s0 substitutes for the material dominated by AUX.

3) The word so substitutes for the material dominated by VP.

4) The word s0 substitutes for the material dominated by AUX and VP.

R 18- Which consonants can constitute a syllable nucleus?
1) Stops 2) Nasal and liquids

3) Fricatives and nasals 4) Nasals and oral consonants

W™ 19- Thefirst soundsin the words week and yacht are both .............
1) glides 2) liquids 3) labiovelar 4) high vowels

X 20- Which of the following is wrong?
1) The words pinks scarlet, orange, hot pink, and pumpkin form a subclass of the word red. They are

referred to as hypernyms of red.

2) The verb “get” is a good example of polysemy - it can mean “obtain,” “become,” or “understand.”
3) Two or more words are homonyms if they either sound the same (homophones), have the same
spelling (homographs), or both, but do not have related meanings.

4) Two lexemes are synonyms if they can be successfully substituted for each other in all situations.

W 21- Which of the following is a characteristic of criterion-referenced tests?

1) They indicate the content of the behavioral repertory.

2) They are appropriate for assessing abstracted language ability traits.

3) They are used to disperse the performances of students in a normal distribution.

4) The interpretation given to an examinee’s score on such tests is called a relative decision.

W 22- The problems related to the claim that task-based language perfor mance assessment
(TBLPA) can be used to make predictions about performance on future language use tasks
outsidethetest itself are ...............

1) task selection, implementation and realization

2) task difficulty, validation and conceptualization

3) task selection, generalizability and extrapolation

4) task generalizability, conceptualization and extrapolation

™, 23- Studies show that teacher-related factorsthat affect washback are .............

1) teachers’ attitude toward exams, their autonomy, their nationalities, and their identities

2) teachers’ beliefs, their autonomy, their nationalities, and their educational backgrounds

3) teachers’ attitude toward exams, their institutional commitment, their identities, and their personalities
4) teachers’ beliefs, their attitudes toward exams, their educational backgrounds, and their personalities

W 24- Which of the following is a featur e of perfor mance assessment?

1) It fosters test-taking skills. 2) It reflects speed and accuracy.
3) It contributes to classroom change. 4) It offers a static view of achievement.

T 25- All of the following ar e challenges of testing listening comprehension EXCEPT ..........
1) it is extremely hard to construct a pure test of listening that does not require the use of another language skill
2) there are other test factors such as the test takers’ memory capacity that could also contribute to the test score
3) text characteristics that can influence test difficulty, including the phonological qualities of the text are too

hard to control
4) while listening comprehension might primarily be viewed as a process of constructing meaning from auditory

input, that process involves more than the auditory signal alone
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1- Choice" 1"
A test of constituency is coordination. Only the underlined portion of option 1 can be coordinated.
She seemed incredibly lucky to me but seemed not too approachable.

2- Choice"1& 3"

Constancy under negation is a test of both presupposition and entailment. This principle holds that to see if a
sentence presupposes / entails another, negate that sentence, believing that presupposition remains under negation,
but entailment does not.

3- Choice" 3"
We is agent [/ Mary istheme also agent
Thejobisgoal [/ Ateacher isrole

4- Choice" 1"
Rebus is a system of writing in which words are represented by pictures whose names sound like the word. One
classic example of rebus writing is 4 sale (for sale).

5- Choice" 4"
Progressive assimilation occurs when one sound influences the following sound as in What's the problem which in
casual speech is pronounced /wotszo problony/. In this case [s] which is an alveolar influences [0] which is interdental.

6- Choice" 2"

Clefting removes a constituent from its source sentence and places it after an it.
a. Maya want to look at your notes [after class].

b. It's [after class] that Maya want to look at your notes.

7- Choice" 4"
The sentence is ungrammatical because it has more than one marking for tense: would and the past form of sing.
8- Choice" 1"
Option 1 is a case of backformation because laze, which is a verb, is created from lazy, which is an adjective.
9- Choice" 3"
Anomia has to do with inability to name objects and word-finding difficulties.
10- Choice" 2"
The second option is a case of conjoining or coordination not embedding, which relates to relative and noun clauses.
11- Choice" 4" S
. . . . . NP /
The appropriate tree diagram for this sentence is as follows: N
Det N
AN
the farmers
VP
/ \
v
/
believe

— "\

RN

he h b v
the ungry eavers/ / \

frighten Det N
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12- Choice" 2"

If “it showered every day of the week” is true, then “it showered on Wednesday” is also true.

But to check if this sentence is a case of presupposition or of entailment, negate it. The former remains under
negation, but the latter does not, so let’s negate the sentence:

If “it did not shower every day of the week” is true, then “it showered on Wednesday” is not necessarily true and its
truth must be checked, so this option is a case of entailment.

13- Choice" 2"
Option 2 is a case of lexical ambiguity because bat can mean: a baseball bat or a flying mammal.

14- Choice " 3"

Here the following conditions must be met:

Person B has to believe that X has not yet been done;

Person B has to believe that Person A can actually do X
Person B has to believe that Person A is willing to do X; and
Person B has to actually want X to be done.

15- Choice" 3"
Praise is not a declarative verb; it is expressive.

16- Choice" 2"
Option 2 relates to inflectional not derivational morphemes.

17- Choice" 3"
In this sentence, SO is a proform for get a haircut. In other words, it is a substitute for what comes under VP.

18- Choice" 2"

In phonetics and phonology, the nucleus (sometimes called peak) is the central part of the syllable, most commonly
a vowel. However, sonorant consonants such as liquids (such as [r] and [1]) and nasals (such as [m] and [n]) can
serve as the nucleus if there is no vowel.

19- Choice" 1"
[w] and [j ] are both glides.

20- Choice" 1"

The relationship between the words given in option 1 is called hyponymy. There are several inter-related
terminologies underlying this term that are confusing.

The term that is in the highest level is called superordinate or hypernym, which is here red.

The words that are immediately categorized under superordinate or hypernym are called hyponyms or co-
hyponyms.

So in this option, pink, scarlet etc. are hyponyms (not hypernyms) of red.

21- Choice" 1"
As pinpointed by Glaser (1963), Criterion-referenced tests indicate “the content of the behavioral repertory, and
the correspondence between what an individual does and the underlying continuum of achievement”.
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Table: Differences between Norm-Referenced and Criterion-Referenced Tests

Characteristic Nor m-Refer enced Criterion-Referenced

Relative (A student's performance is Absolute (A student's performance is
Type of Interpretation compared to that of all other students in compared only to the amount, or

percentile terms.) percentage, of material learned.)

To measure general language abilities or To measure specific objectives- based
Type of Measurement . .

proficiencies language points

) Spread students out along a continuum of  Assess the amount of material known, or

Purpose of Testing s .

general abilities or proficiencies learned, by each student

. Varies, usually non-normal (students
e 1 f ’ .

Distribution of Scores Normal distribution of scores around a who know all of the material should all

mean

score 100%)

A few relatively long subtests with a A series of short, well-defined subtests
Test Structure ) . e .

variety of question contents with similar question contents

. Students have little or no idea what Students know exactly what content to

Knowledge of Questions . . . .

content to expect 1n questions expect 1n test questions

22- Choice" 3"

Bachman (2002) argues that there are several problems with supporting the claim that TBLPA can be used to make
predictions about performance on future language use tasks outside the test itself. These problems are related to
task selection, generalizability and extrapolation. Because of the complexity and diversity of tasks in most ‘real-
life’ domains, the evidence of content relevance and representativeness that is required to support the use of test
scores for prediction is extremely difficult to provide.

23- Choice" 4"

As indicated by many washback studies in the literature, the phenomenon of washback affects and is affected by
different stakeholders’ related factors. Teachers are one of the most important individuals in washback effect whose
beliefs, attitudes toward the exam, educational backgrounds, and personalities affect the process of washback and
its degree and direction.

24- Choice" 3"

Performance assessment is a systematic attempt to measure a learner’s ability to use previously acquired
knowledge in solving novel problems or completing specific tasks. It aims to model real-life language and
encourages teacher to teach to the domain rather than to the test or the task. Therefore, it does not distort teaching.
This type of assessment contributes to classroom change (Bond, 2005, p. 22; Seyfarth, 1993, p. 25). It reflects
knowledge and proficiency and takes a dynamic view towards achievement as opposed to the static views of
traditional ways of assessment.

25- Choice" 3"

There exist many challenges to measure listening comprehension. One of such challenges is that it is impossible 0
construct a ‘pure’ test of listening that does not require the use of another language skill. In addition to listening to
aural input, test takers are likely to have to read written task instructions and/or questions. They also have to
provide either oral or written responses to the questions. Consequently, what might be intended as a listening test
could also be assessing another language skill. There are also other test factors such as the test method and test
taker characteristics such as memory capacity (Henning, 1991) that could also contribute to the test score.
Moreover, Buck claims that while listening comprehension might primarily be viewed as a process of constructing
meaning from auditory input, that process involves more than the auditory signal alone.

26- Choice" 2"

Poehner (2009, p.478) differentiated two approaches to Group DA with L2 learners: concurrent Group
DA and cumulative Group DA. In concurrent Group DA the teacher interacts with the entire group. To be sure, the
teacher may provide mediation in response to an individual, but the interaction shifts rapidly between primary and
secondary interactants as one learner’s question, struggle, or comment sets the stage for another’s contribution. In
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T2 1- A skull and crossed bones used as a sign for poison is an example of .......... .

1) an indexical sign 2) an iconic sign 3) a regulatory sign 4) a symbolic sign

A\ 2- The ungrammaticality of the sentence “Robert is fond that his parents love animals” can be best

explained in terms of ........ .
1) d-structure 2) transformation rules 3) s-selection restrictions  4) c-selection restrictions

2 3- The word “reopened” consists of three morphemes. These morphemes are respectively ......

1) inflectional, bound lexical, and functional 2) bound lexical, free lexical, and bound grammatical
3) derivational, bound lexical, and inflectional 4) bound grammatical, free lexical, inflectional
R 4- The words “smog”, “infotainment”, and “modem” are all formed through a process called ........ .
1) backformation 2) compounding 3) blending 4) clipping
TR\ 5- Some homographs are also homophones. Two example of such words are ........... .
1) bat and hide 2) read and use 3) flour and day 4) two and too
T 6- Creck [K"rek], cruke [k"ruk], cruk [k"rak] are not currently words in English, although they are
possible words. Such well-formed but nonexisting lexical items are referred to as ......... .
1) accidental gaps 2) blocked derivations 3) nodes 4) anomalies
T\ 7- Agrammatism is a language disorder usually experienced by people suffering from ........ .
1) jargon aphasia 2) conduction aphasia 3) Broca’s aphasia 4) Wernicke’s aphasia
2 8- The sound /h/ can be described as all of the following EXCEPT ......... .
1) approximant 2) glottal 3) fricative 4) voiceless

R 9- The programming of computers to take context and situation into account when determining the

meaning of expressions is referred to as .......... .
1) connectionism 2) computational pragmatics
3) computational semantics 4) concordance

T2 10- How many deictic expressions are there in the following sentence?
“We met him yesterday at 4 pm at this place.”

1) Two 2) Five 3) Four 4) Three
& 11- Terms such as obstruent, morph, and lexicon are unique vocabulary used by linguists. Such
specialized vocabulary is referred to as .......... .
1) epithet 2) jargon 3) register 4) creole
T2 12- Which of the following sentences contains a verb with the semantic feature of negation?
1) I doubt that they will be of any use. 2) Turn the light on so I can see.
3) He likes his steak well-done. 4) She hated the cold dark days of winter.
T2 13- Antonyms such as big/small and hot/cold are referred to as .......... .
1) contranyms 2) relational opposites 3) complementary pairs 4) gradable pairs
A 14- If you ask your colleague to give you a pencil by saying “Give me your pencil”, then you are .... .
1) performing an indirect speech act 2) emphasizing your negative face

3) emphasizing your positive face 4) performing a face-threatening act
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A 15- Using the word “cat” for only the family pet and not for other cats is an example of .......... .
1) holophrastic utterance  2) underextension 3) topicalization 4) speech error
T2 16- All of the following are among the most common suprasegmentals or prosodies EXCEPT ........ .
1) pitch 2) stress 3) lip rounding 4) length
A 17- The English negative prefix in- is im- before /p, b, m/, as in impossible and imbalanced. This type of
language change is termed .......... .
1) metathesis 2) chain-shift
3) regressive assimilation 4) progressive assimilation
TR\ 18- Structural analysis can be best described as the investigation of ........ .

1) the distribution of grammatical forms in a language

2) the structural combination of morphemes, words, and phrases

3) the proper use of the language, traditionally based on Latin grammar

4) the grammatical category distinguishing first person, second person, and third person

2\ 19- The principle of stochastic independence in large-scale language testing specifies that ........... .

1) the response to each item must be partially dependent upon the responses to other items to increase overall
consistency

2) increasing the number of items in a test is inversely related to the evidence about a language learners’ ability
3) each item must contribute as much unique information as possible to the meaning of the total score

4) different items must elicit information from the test takers for the purpose of cross-checking evidence about
their ability

=\ 20- In a 3-parameter IRT model, an item provides the greatest amount of information about a test taker

when .......... .
1) the a-parameter is large, the b-parameter is close to the ability level of the test taker, and the c-parameter is
Zero
2) the a-parameter is average, the b-parameter is higher than the ability level of the test taker, the c-parameter
is zero
3) the a-parameter is small, the b-parameter is lower than the ability level of the test taker, and the c-parameter
is small
4) the a-parameter is very large, the b-parameter is relatively large, and the c-parameter is relatively small

& 21- According to the Bachman and Palmer model of language proficiency, knowledge of “the
characteristics of different levels of formality in language use” is attributed to ......... .

1) knowledge of register as a component of functional knowledge

2) knowledge of rhetorical organization as a component of textual knowledge

3) knowledge of rhetorical organization as a component of grammatical knowledge

4) knowledge of register as a component of socio-linguistic knowledge

TR\ 22- Which of the following is NOT a subcomponent of MLAT (the first language aptitude test)?

1) inductive reasoning 2) phonetic coding
3) executive functioning 4) grammatical sensitivity

TR 23- Which of the following qualities does NOT reflect Messick’s 1989 conception of validity?

1) Validity comprises value implications of testing. 2) Validity involves an ongoing inquiry process.

3) Validity is a general property of the test itself. 4) Validity is a unitary conception.
=\ 24- To minimize construct under-representation in a test of general language ability, we need to
incorporate ............ in our test design.

1) authenticity and directness 2) feasibility and context

3) interactiveness and washback 4) reliability and impact
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1- Choice "1"
When you see “a skull and crossed bones” on a, for example, bottle of poison, you infer that the content of the
bottle is deadly and if you use it, you’ll die. Then, the meaning of the sign (i.e., death) is indirectly conveyed.

2- Choice "4"
The reason for the ungrammaticality of “Robert is fond that his parents love animals” is that adjective fond c-
selects a PP (e.g., of music) rather than a CP (in this case that his parents love animals).

3- Choice "2"
Reopened could be decomposed into re- (derivational/bound lexical) + open (content/free lexical) + -ed
(inflectional/bound grammatical).

4- Choice "3"

In the creation of these words, part of one word has been combined with part of another word: (this word formation
process is called blending):

smoke + fog >> smog; information + entertainment >> infotainment; modulator + demodulator >> modem

5- Choice "1"
Stem, in fact, refers to homonymy. This is found in bat (animal vs. sport) and hide (shelter vs. animal skin).

6- Choice "1"
These words follow English rules in sound combination, however, they are currently out of use. As such, they are
instances of accidental gap.

7- Choice "3"
One symptom of Broca’s aphasia is the omission of function words during speaking, i.e., agrammatic speech.

8- Choice "1"
Fricative is cited as the manner of articulation for /h/ in most sources.

9- Choice "2"
Stem is the definition of computational pragmatics. You should remember that context and situation are key words
in the definition of pragmatics.

10- Choice "3"
The reference of deictic expressions become clear by reference to physical context. Thus, in this sentence we, him,
yesterday, and this place are deixis.

11- Choice "2"
These are technical words used by linguists to communicate more precisely, hence examples of jargon.

12- Choice "1"
Verbs such as doubt, refuse, and so on should be followed by a negative feature in the sentence such as ever,
anymore, and so on. These verbs have the semantic feature of negation.

13- Choice "4"
Since these adjectives have comparative forms (that is bigger/smaller/hotter/colder), they are gradable antonyms.




i by ovigel aolisuly g WG
var 555 4 s i ot ol b3 i3 g0 h g ¥ fgw
@ 8559 SN 4y iy Gluga 1Y (s 50m (TA-D )

14- Choice "4"

Within their everyday social interactions, people generally behave as if their expectations concerning their public
self-image will be respected. If a speaker says something that represents a threat to another individual’s
expectations regarding self-image, it is described as a face threatening act. Alternatively, given the possibility that
some action might be interpreted as a threat to another’s face, the speaker can say something to lessen the possible
threat. This is called a face saving act. Imagine a late night scene, where a neighbor is playing his music very loud
and an older couple are trying to sleep. One of them proposes a face threatening act (e.g., I’m going to tell him to
stop that awful noise right now!) and the other proposes a face saving act (e.g., Perhaps you could just ask himif he
IS going to stop soon because it’s getting a bit late and people need to get to sleep).

15- Choice "2"
Restricting the meaning of words to specific cases by children is called underextension.

16- Choice "3"
Lip rounding is a feature which is investigated in the study of vowels.

17- Choice "3"
When the latter sound segment (e.g., p in possible) influences the properties of the preceding sound segment (e.g., n
in in-), the case is an example of regressive assimilation.

18- Choice "1"
The two discovery procedures used by structuralists were “structural analysis” and “immediate constituent analysis.”
The main concern of structural analysis was to investigate the distribution of forms in a language. The method involved
the use of ‘test-frames’ that can be sentences with empty slots in them. For example: The ...... isvery heavy.

There are a lot of forms that can fit into these slots to produce good grammatical sentences of English (e.g. car,
child, radio). As a result, we can propose that because all these forms fit in the same test-frame, they are likely to be
examples of the same grammatical category. The label we give to this grammatical category is ‘noun’.

19- Choice "3" Source: Fulcher & Davidson (2007, p. 26). Language testing & assessment: an advanced resource book.

In large-scale language tests the assumption is that a fairly good picture of a learner’s ability can be achieved only
if that learner responds to many different items. Further, the response to each item or task must be independent of
the responses to other items or tasks. This is because if the response a learner makes to one item is influenced, or
even dictated, by a response to another item, that item carries less unique information. In the measurement
literature surrounding multiple-choice items (the kind of item about which we know the most), this is referred to as
the principle of stochastic independence. Each item must contribute as much unique information as possible to
the meaning of the total test score.

20- Choice "1" Source: Bachman, L. (2004, p. 145). Statistical analyses for language assessment.

Common IRT models vary in terms of the number of parameters they include: a 3- parameter IRT model, as the
name suggests, includes three parameters: a discrimination parameter (the ‘a’-parameter), a difficulty parameter
(the ‘b’-parameter), and a pseudo- chance or guessing parameter (the ‘c’ parameter). For a 3-parameter IRT model,
the symbol Omax (theta max, which represents the most information an item provides) is at its maximum when the a-
parameter is large, when the b-parameter is close to the ability level of the test taker, and when the c-parameter is
zero. Thus, in general, an item provides the greatest amount of information about a test taker when there is no
guessing, and when it is slightly easier than the ability level of the test taker.

21- Choice "4" Source: Bachman & Palmer (2010, p.p. 45-48). Language assessment in practice.

In Bachman & Palmer’s (1996) model of language knowledge, sociolinguistic knowledge (how utterances or
sentences and texts are related to features of the language use setting) is further subdivided into:

e Knowledge of genre

e Knowledge of dialects / varieties
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¢ Knowledge of registers: includesthe characteristics of different levels of formality in language use
e Knowledge of natural or idiomatic expressions
e Knowledge of cultural references and figures of speech

22- Choice "3" Source: Shohamy, E. (2017, p. 78). Language testing and assessment.

Linguistic aptitude is thought to be a relatively stable set of attributes that predicts how well an individual can learn
a second language (L2). The first aptitude measure, the Modern Language Aptitude Test (MLAT, Carroll and
Sapon 1959), was developed in the 1950s with a grant from the Carnegie foundation. Carroll (1971, 1990)
identified four relatively independent subcomponents that underlie aptitude:

e phonetic coding,

e rote memory,

e grammatical sensitivity, and

e inductive reasoning.

23- Choice "3" Source: Fulcher & Davidson (2012, p.p. 23-24). The Routledge handbook of language testing.

Four characteristics are useful for summarizing Messick’s 1989 conception of validity:

e Validity is not a property of tests themselves; instead, it is the interpretations and uses of tests that can be shown
to be more or less valid.

e Validity is best thought of as one unitary conception, with construct validity as central, rather than as multiple
validities such as “content validity,” “criterion-related validity,” or “face validity.”

e Validity encompasses the relevance and utility, value implications and social consequences of testing. This
scope for validity contrasts with the view that validity refers only to technical considerations.

e The complex view of validity means that validation as an ongoing process of inquiry. The focus on the process
of investigation contrasts with a product-oriented perspective of a validated test- one for which the research has
been completed.

24- Choice "1" Source: Fulcher & Davidson (2012, p. 82).

Messick advocated incorporating authenticity and directness in the test design, and to minimize ‘construct under-
representation’ and ‘construct-irrelevant difficulty’.

25- Choice "2" I don’t know the source.

Assessment as learning: This type of assessment activity, which places learners at the center of classroom
assessment, occurs when students reflect on and monitor their progress to inform their future learning goals. It is
regularly occurring, formal or informal (e.g., peer feedback buddies, formal self-assessment), and helps students to
take responsibility for their own past and future learning.

26- Choice "4" Source: Fulcher & Davidson (2012, p.p. 356-357).

Mislevy (1992) identifies four possible levels at which tests can be compared:

e Equating — the strongest level: refers to testing the same thing in the same way, e.g. two tests constructed from
the same test specification to the same blueprint. Equating such tests allows them to be used interchangeably.

o (Calibration — refers to testing the same thing in a different way, e.g. two tests constructed from the same
specification but to a different blueprint, which thus have different measurement characteristics.

e Projection — refers to testing a different thing in a different way, e.g. where constructs are differently specified.
It predicts learners’ scores on one test from another, with accuracy dependent on the degree of similarity. It is
relevant where both tests target the same basic population of learners.

e Moderation — the weakest level: can be applied where performance on one test does not predict performance on
the other for an individual learner, e.g. tests of French and German.




	استعداد و زبان گروه زبان
	استعداد و زبان گروه زبان
	21
	31
	45
	54
	63
	75
	107

	118

	125
	136
	243
	252

